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g Grey line: exponential fit Peak flux: 4.851+/- 0.725 c/s/cm? g
E Black line: power law + gauss fit Fluence : 30.45+/- 3.71 c/cm? —
E Dashed line: power law o ’ ’ 3
E Duration: 13.01+/- 2.04s E
= Best fit model: 1. =
g Best fluence model: 1. E
= Best duration model: 1. =
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; Power law fit é
= Power law index: -1.581+/- 0.144 (chi’-red= 1.08) 3
- bl bt bt ettt gl b b W b o e b 2
= Wﬁﬂﬁ m il W WW ) HWH iy M Wﬁ Hﬁ | Wﬁ*ﬂ il Hﬂwwﬂw s w i W f W # ﬁ w W Wﬂ W M ﬁ i HMHH{ W W ﬂ HH Hﬁ%
- J( 0
i T T T T T T T T T T T T T T T T T T T T T T i
— Power law fit plus Gaussian (st.dev.= 5.78+/-11.73 s, fracgs= 0.00+/- 0.00) =
= Power law index: -1.546+/- 0.009 (chi’-red= 1.09) 3
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